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General Instructions :
er comprises of three Sections,

skills. These are to be answered in a

fiase Excelleosce
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The gquestion pap A, B and C. You are to attempt all the
sections.

All questions are compulsory.

All questions of Section-A, Section-B and Section-C are to be attempted separately.
Question numbers 1 to 1 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.
Question numbers 4 and 5 in Section-A are two marks questions. These are to be

answered in about 30 words each.
Question numbers 6 to 16 in Section-A are three marks questions. These are to be

. answered in about 50 words each.
Question numbers 17 to 21 in Section-A are five marks questions. These are to be
answeged in about 70 words each.
ber 22 is two marks, Question

Section B has3 OTBA questions. Question num
ber 24 is five marks gquestion.

number.23 is three marks and Question num
Question numbers 25 to 33 in Section-C are multiple choice questions based on
question. You are to select one most |

practical skills. Each question is a one mark
appropriate response out of the four provided to you.
36 in section C are two marks questions based onpractical

Question numbers 34 to
beut 30 words each.
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T Y- / SECTION-A
V,:‘ AR (Mg) WE T Mgz W F TR w5 g i
What is the number of electrons in Mg atom and Mg2*?

;ﬁqﬁmm%w S 1 =3 Fifg, fows g wemm sem & fow 5t amen 1
ol Heh |

1

State the postulate of Dalton’s atomic theory which can explain the law of conservation of
mass.
3 TSI AT E? 1
What are lichens?
4-/' mﬁ%amﬁmwmlm#awms
State Archimedes' principle. Give its two applications.
@%@Wéﬁmﬁ@wwmmmttqﬁmﬁaﬁaﬁmm 2
m/s & & wireaft g # fag @ wT T it
A person fires a gun standing at a distance of 55 m from a wall. If th d i
m/sec, find the time for an echo to be heard. " TR asEteE
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(@) What is the relationship between two elements X and Y whose atomic numbers are 18
and 20 respectively but their mass numbers remain same as 40 ?

16) Are their chemical properties same or different? Explain in support your answer.
Uet Which has more number of electrons Na or Na* ? Why ?

TF T X' TEIEF & WY T ek A XH it s 2 o

_ ¥ 3 X' H WA @ e 3

AR IR R w7 9 A F TEatE 9 fafad

(@) ERNSH % W b) ST ¥ w o\\
A compound XH is formed by combination of an element 'X' with hydr i ’

of element 'X'. State the formula of the compounds formed by combi)::ua'gr;fr;:md e valency\:")

(a) X with rl.itngE‘f‘l (b) X with oxygen . q,q’

Frefafes J dicll it @9 1 9w S .

r O
()  3.011x 102 SIS TENRT S Hem

@)  60g Hfewan

[ AT TS Ca=40u, SERTE S
Calculate the number of moles present in :
@  3.011x10% number of oxygen atoms
(i)  60g of calcium
, [Given that atomic mass of Ca =40u, Aw:
; of Ca = dro No. =6,
9 o oy T A e &1 ot 3y m#mﬁmm: o '
A i i i i ‘
baby is suffering from loose motions: Which factors may be responsible for his condition ?
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10 (a) ReErHge FEEEE F fRE weER e €2
(b) ﬁﬂma,mmmmﬁmaﬁwmﬁﬁmmm%mﬁm
ferfires wramell & fore Swdm fren w1 aren v fefaw) ’
(@)  How are the Pteridophytes different from Bryophytes ?

(b))  What is the common characteristic feature found in Thallo
. . phyta, Bryophyta and
Pteridophyta. Also mention the term used for such characteristic, e

1 e W e it

(@ W% waE = 5T wER w9 e s a3

(b) &H e SiE # feg R OR €2

Explain the following : -

(@)  How the effects of the disease are reduced ?

-(b)‘ How do we kill microbes ?

TR T IR R 10 cm? §9%E F TS W m’ TR B TH TE ZW 1500 WA 3
TR T R RF D YR W YR 9w A i wife

Define thrust. A pressure of 1500 Pa acts on a surface of area 10 cm? by a block of mass ‘m’.
Calculate thrust of the block on the surface and value of ‘m’ also. :

e o 96 F s 3= S T wm ) gt 2
(@) @ b) FREHATH () Fm

T | S T IR farad |

Identify the part producing sound in the following musical instruments :

(a) Tabla ®) Mouthorgan (c) Veena
. Name the type of wave produced in each case.

¥ @ TR F S F W 021em AR @R w1 WS 780 g/ec ¥ A T T 3
henfea Hifaw) :
(b) T F T s w1 R 018 am ¥ AR giutEw W oS 27 g/cc § @ T
FoE T SItWT)

(a) Radius of an iron sphere is 0.21 cm. If density of iron is 7.80 g/ cc. Calculate its mass.
(b)  Edge of a aluminium cube is 0.18 cm. If density of aluminium is 2.70 g/cc., calculate its

12

mass.
maﬁMﬁmlﬁgﬂmmmﬁﬁmmmmmumwmﬁam 3

T o # § w2 % g S ¥ T R d Sugw faem el 9 9fe 99 SR

Define power. State commercial unit and SI unit of electrical energy. An electri
3 ectric he
W works for 2 hours. Find the electrical energy units consumed in a day ? e

16 T il ¥ e ¥ IR o fwer I WA S km 1 39 Rt 3 forenera 3 &
mwmmwmm@ﬁmﬂm:ﬂ ‘3% -
() v S TEHE o @ A 59 TR w5 S weien g 22
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Rawvi lives in a village and his school is 5 km away from his house. His father suggested him
to buy a scooty to go to school but Ravi opted for a bicycle.
. i) What kind of energy transformation takes place while Ravi rides a bicycle ?
(1) What do you conclude about Ravi's nature ?
(i)  Suggest one way in which you can contribute to the environment.
17 (a) wEEnt w sfovm fefaw) fafeen % dm 4 gueafel $ S8 <1 syam fafa) 5
(b) T AN WHY] FHEHE G4 35.5.0 Hi 261 3, e ST
(a)  Define isotopes. Give any two uses of isotopes in the field of medicine.
«(b)  Explain why chlorine always has relative atomic mass of about 35.5. u.
, 18 0 ==
(i) mﬂﬁmaﬁ,%mwwaﬁa(ﬁﬁm‘)%ﬁamﬁmmﬁw
ol
Give a comparative account of 5 classes of Phylum Vertebrata .
®  Organs for breatiing ¥ mesed o
() Chambers in heart.
+ 19 & -] . - %
(a) i@ﬁ::mﬁ:mqﬁhmﬁamﬁﬁq@Mdﬂhﬁﬁﬁ?ﬂqm5
i I

(b) EEmRE sty s wfew a6 2
(c) ﬁﬁﬁﬁm—ﬁfﬂﬁmmmmmt?
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(i)  <ATEN WK (ivy T
(d) f& 2 fafiadi = 5 S S

. WWWWWEW*WWWMWW
(a) Write

one biochemical i . .
\ ” emical pathway in bacteria that is blocked by the antibiotics like
(b)  Why itis difficult to make antiviral drugs?

@  Dengue L e——
(i)  Kala-azar (iv)y AIDS

(d)  Suggest any two ways you would li
" il i yo like to adopt, to prevent being infected by them.

R G L o
(i) ﬂmﬁﬁmgjmﬁmtl
(®) ﬂﬁ%awmwifaﬁ%mﬁ-&ﬁrm:maﬁw
() 300 Hz smgfr w9 § w1 aed 7
(d) ﬂﬁ%&muﬁﬂs&maﬁmaﬁmmﬁamq
@) Name the physical quantity described by |

(i) maximum djsplacame“t of

, (i) i
O ldentity g e Wo o
frequency.

W ik ww )

a particle from its mean position.
nsecutive crests, '

Cs of sound which depend respectively on amplitude and
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/ (&  Whatis meant by the statement “300 Hz frequency?”

: (d)  Establish the relation between velocity of sound, wavelength and time period.

N (@) o TR R W TG R b S R T TN R, S i S s g s S
. Tefew ferfew =i #t o1 3w fofaw)
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(@  Write an expression for potential energy of an object with mass 4 placed at height h.
Write SI unit of potential energy. ‘

(b)  Find the ratio of changed potential enexgy to the original potential energy if the mass
of the object is halved.

()  Find the ratio of changed potential energy to the original potential energy if the object
is now placed at half of its original height from the ground.
- (97 WS ) /SECTION - B (OTBA)
(* Please ensure that open text of the given theme is supplied with this question paper.)
e ;3 e T

Theme: Sclid Waste Management

2 AT AR EeE O AR R § e € S 2 | ' 2
What will happen if the hazardous solid waste is leached into the soil?
23 o & o T ST SUREITAE i Heed i SR it 2 3

Explain the concept of extended producer responsibility for plastics.
4 i § ST SURTE FEYA ¥ SIESG 9F % e B 9e 39 fEre 5
Mention any five steps by which you can sensitize learners for waste disposal.
-"/ SECTION - C
35 woed & e w et w0 ¥ v A sk At fts gaer fid 9 e t e 1
F
(@)  TRT ¥ I F
(b) TRYH I W e & |
() Y=Y F T H30°FH IOT W
(d) RYFH AN F45° F TR
In the experiment of verification of reflection of sound, the incident sound is directed along :
(@) the axis of the tube.
(b)  the normal to the axis of the tube.

(©)  atan angle of 30° from the axis of the tube.
(d)  atanangle about 45° from the axis of the tube.

26 L, badn b fammedi arr == (h>1>b)ﬁrmmﬁmm@m%;ﬁqéaﬁmﬁimwﬁ 1
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(@  Ib<hb<hl
(©  hb<lb<hl

) hb<hl<lb
J(g) hb=lb=hl
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A cuboid of dimensions 1, b and h (h>I>b) is placed on the surface of levelled sand. The
surfaces in the correct in order of increasing pressure is :

(@  lb<hb<hl
(©)  hb<lb<hl

27 9 9 9 W o SEm eSS - -

()  hb<hi<lb
(d)  hb=lb=hl

() TERE e g I T a9
(b) T W AR T W SN @y a9
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(@) @ = fa
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Which of the following is an example of pulse :
(a) shock waves caused by the supersonic plane.
(®)  sound waves produced by the clapping of hands.

(€) -. formation of water waves when a stone is dropped into it.
(d)  giving ajerk to a string tied at one end.

mmawﬁmﬁﬂm%ﬁﬁmwﬁ@m%w%:
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E_’lants which are not differentiated into roots, stems and leaves are grouped under :
() Spermatophytes (b)  Thallophytes . '
(© Gymnosperms (d)  Pteridophytes

29 ZEE TR s et S % wam A
e o 30 g Wifewm e foera 3, § =ven man S
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an experiment to verify the Law of conservation of

in a test
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mass 30 g solution of lead nitrate taken

containing
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b) T s dhn e fstort
@ 2 fesormh
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Arun was provided with two plants to study the external features of root and leaf. He found
that root of one plant is tap - root and leaf of other plant has parallel venation.
type of plants respectively are :
a)  dicot plant, monocot plant
(®)  Monocot plant dicot plant
© both are dicot plants
(d) both are monocot plants

frififtf i e @msme: - *
(@) R’ (b) &

(© ¥ (@) W

Which of the following plants has tap root system :

(a) wheat (b) grass

(c) kidney Yeans (d) paddy

S T Yo anive = & it w9 w1 R s it weitfa FRa ¥2 s

a,
e
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Which. stage of life cycle of mosquito is represented in the figure
below ?

iy
M}w
S

given

=T A Y,
(a) Pupa _ . (b) Nymph ) Larva (d) Adult
FAARR '

g dw Amw foldst W IWEM W T R Sm W w2
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Mention any four precautions that should be taken to determine the devsity of a solid (denser
than water) by using spring balance and measuring cylinder. "

T KA - 71 361§ § e F Srg ) o SR R AR H w4 o vt am iy 2
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In which of the two, glycerine or ke i i i
e E;-):d e rosene, the loss in weight of a solid when fully immersed

36 W’Hﬁmwn%mq; ;
'. Wﬂ{ﬁWmﬁan:zg::::fgﬂ?mamﬁmﬁmwmﬁ%m ;
e T g/em?
T 0.7
WS (W) | 136
T (399) | 087
1 e e o | 113

Material Density g/cm?
Gasoline 07 5 .
Mercury 136
Paraffin (wax) | 0.87

1 Moltenlead |113
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